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(1) What was 4

(2] | 24 U 2-B A 2 X2

(f3) | 3A| 7 3B | A 3-C| 7 3-D 7 FET 4

(R 4) v 4

(5] | 5-A - 5-B v 5-C T FETA

(R16) | lawyers and comedians ( 355) a lawyer and a comedian (5 3& 4
(R37) | have a problem and need a lawyer's help 4

(F8) | 8-A | wait 8-B | thank 2 X2

(f519) | 9-A| 7 | 9B | 7 |9C | A oD | | 9B T | wET4

(f10) | - 4

(A1 1) H OB 8
(1) | 1-a | A b | = | 1< | U 1-d 7 T4

(M 2) | understand that bamboo is so strong 4
(3] | 3a as 3-b as sEc4d

(Ri4) % 4

(5] 4

(M 6) | enjoyed used (158) livedin (25E 4

(F7) 4

(R 8] ' % 4




